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ID #:

Math 103-001 Winter 2015 Quiz #3;

1. A closed rectangular storage container with square base and a volume of 54 m’ is to be
constructed out of two different types of material.

The bottom is made of metal and costs $300 per m?, the remaining five sides are made of
wood and cost $100 per m?. Find the optimal dimensions of such a container, i.e. the

dimensions of a container that has minimal material cost. Show all steps clearly and give

your final answer in a complete sentence.
[10 marks]
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2. Consider an investment of $4000. Find the value of the investment in 20 years, if it grows at
an annual interest rate of 2.5%, compounded [4 marks]
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3. An investment is earning compound interest continuously. If it doubles in value every 15
years, how long will it take to triple in value? Show all work. [6 marks]
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